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BN AUNER-IUANEOHBRR \BRE 1/17)

20144E11 H48 BE Bl 7:00  ~ 10:00 (1/1)
R RATE B (m) FEEEE | mesh
il E4 BA% | 92 85 #&2 |z ™ | N
7:30 (<A 1000 0 0 0 0 -
7:30 |\IHY 1 0 0 0 0 -
8:30 [wHY 4000 0 0 0 0 c7
8:30 |EL A 100 0 0 0 0 C7
&t 5101 - - - -

20144118218 BE Bl 840 ~ 11:00 (1/1)
R RATE B (m) FEEEE | mesh
il E4 Bk | 92 85 #&2 |=@| ™ | N
9:07 |EVHA 92 0 0 0 0 -
9:10 |ES A 4 0 0 0 0 -
9:30 |EV A 300 100 = 100 0 500 | A37
9:30 |H>%Esp. 500 100 100 0 500 | A37
10:23 |7\ F3$Esp. 120 0 0 0 0 -
10:23 |H > $Bsp. 50 0 0 0 0 -
it 1066 - - - - -

20144118218 BE Bl 14:30 ~  16:00 (1/1)
R RATE B (m) FEEEE | mesh
il 4 Bk | 92 85 #&2 |=@| ™ | N
14:48 £ 94 400 0 0 0 0 -
it 400 - - - - - -

20144118228 BE BHMl 12:30 ~  15:15 (1/1)
R RATE B (m) FEEEE | mesh
il 4 Bk | w2 B85 #£R [z=a]| ™ | N
12:35 [wHY 350 0 0 0 0 A39
12:35 |ES 94 300 0 0 0 0 A39
12:49 |/\JF3)$Esp. 4 0 0 0 0 A35
13.03 |ES 94 30 0 0 0 0 B21
13:03 |H > 4Esp. 40 0 0 0 0 B21
13:28 |ES 94 50 0 0 0 0 B12
13:28 [wH> 700 0 0 0 0 B12
13:36 |H > %Esp. 4 30 30 30 500 | B25
13:39 |/\IF379%Esp. 9 20 20 20 200 | B37
13:40 |/\UF3Esp. 65 0 0 0 0 -
13:52 |/\IF379%Esp. 16 0 0 0 0 B36
13:54 |ES 94 12 0 0 0 0 B36
14:10 |ES 94 400 0 0 0 0 B39
14:10 |\NIHY 2 0 0 0 0 B39
14:10 |<HY 100 0 0 0 0 B39
14:23 |ES 94 100 0 0 0 0 B39
14:25 |H > 4$Bsp. 500 0 0 0 0 C2
14:30 |ES 94 60 0 0 0 0 C2
14:55 |H > 4$Esp. 90 0 0 0 0 ci1
14:55 |ES 94 70 0 0 0 0 C11
&it 2902 - - -

20145 11H 238 BE Bl 850 ~ 945 (1/1)
EIES RATE B (m) FEEEE | mesh
il 4 Bk | 92 85 #&2 |z ™ | N
8:58 |EL A 120 0 0 0 0 A4l
8:58 |wAHY 10 0 0 0 0 A4l
9:05 |H>%Esp. 150 0 0 0 0 A41
911 |ESHA 4 0 0 0 0 H4
9:13 |EVH9A 26 0 0 0 0 H4
9:25 |IN\IHY 20 0 0 0 0 H5
9:25 |H>$Esp. 300 0 0 0 0 H5
9:34 |H $Esp. 130 40 40 0 100 H6
&8 760 = = = = =




BN AUNER-IUANEOHBRR \BE 2/17)

2014411 H23H BE BHl 1210 ~  15:30 (1/1)
R RATE B (m) FEEEE | mesh
il E4 Bk | w2 85 #£R |z=a| ™ | b
12:20 |7\ F3$Esp. 55 0 0 0 0 G8
12:20 [/ \F34$Esp. 200 0 0 0 0 Gl
13:35 |H > %Esp. 35 10 10 0 100 E3
13:42 |H > 4$Bsp. 6 20 20 0 300 E3
13:46 |H > $Esp. 2 30 30 0 500 D9
13:47 |H > 4$8sp. 7 30 30 0 200 E3
13:53 |H > 4Esp. 3 10 10 0 100 D9
13:56 |H > 4$Esp. 8 0 20 20 300 D9
13:58 |H > 4Esp. 15 30 30 30 500 D8
14:22 |H > 4$8sp. 5 0 0 0 0 D3
14:22 |H > 4$8sp. 4 0 0 0 0 D7
14:22 |ES 94 230 0 0 0 0 D7
&t 570 - - -

20144118248 BE Bl 915 ~ 1520 (1/2)
R RATE B (m) FEEEE | mesh
il E4 Bk | 92 85 #&2 |=@| ™ | N
9:19 |/\UF3y¥Esp. 12 0 0 0 0 B36
9:23 |EVHA 17 50 50 50 1000 | B36
9:54 |H>$Esp. 600 0 0 0 0 B27
9:56 |EL A 40 0 0 0 0 B25
10:08 |H > %Esp. 500 0 0 0 0 B21
10:12 | H > 4Esp. 400 0 0 0 0 B23
10:13 |ES 94 7 0 0 0 0 B23
10:55 |H > 4$Esp. 500 0 0 0 0 C13
10:59 |H > 4Esp. 200 0 50 0 1000 | B19
11:10 |H > 4$Esp. 50 0 0 0 0 C15
12:10 |/\IF3$Esp. 40 0 0 0 0 G1
12:10 |/\IF3$Esp. 20 0 0 0 0 G1
12:10 |7\ F3$Esp. 50 0 0 0 0 G1
12:28 |[/\UF3 o $Esp. 350 0 0 0 0 G13
12:28 |H > 4$Esp. 10 0 0 0 0 G13
12:28 |[/\UF3 o $Esp. 30 0 0 0 0 G13
12:28 |H > 4$Esp. 200 0 0 0 0 G13
12:28 [/ \UF3 o 4$Esp. 50 0 0 0 0 G13
12:28 |H > 4$Esp. 50 0 0 0 0 G13
12:45 |H > 4$Bsp. 80 0 0 0 0 H15
12:45 |/\JF3$Esp. 6 0 0 0 0 H15
12:56 |ES 94 6 30 30 30 500 | H23
12:59 |H > $Esp. 3 50 50 50 500 H1
13:04 |ES9A 22 50 50 50 2000 | H27
13.04 |<wHY 4 50 50 50 2000 | H27
13:06 |H > %Esp. 60 50 50 50 300 | H25
13:15 |H > 4$8sp. 9 30 30 30 500 | H29
13:25 |ES 94 30 50 50 50 500 | H22
13:31 |ES 94 20 0 0 0 0 H4
13:38 |H > 4Esp. 11 30 30 30 200 | H14
13:44 |H > $Bsp. 100 0 0 0 0 H6
13:48 |H > $Bsp. 250 0 0 0 0 H11
a&t 3727 = = = = = =

2014411 H248 BE BE@ 915  ~ 1520 (2/2)
R RATE B (m) FEEEE | mesh
il 4 Bk | w2 Bs #£R |[z=a| ™ | b
14:20 |H > 4$Bsp. 300 0 0 0 0 A12
14:20 |H>4$Bsp. 500 0 0 0 0 A12
14:33 |ES 94 16 30 30 30 500 | AT
14:33 |<wHY 8 30 30 30 500 | AT
14:36 |ES 94 60 0 0 0 0 Al9
14:36 |ES 94 30 0 0 0 0 A22
14:36 | <wHY 60 0 0 0 0 A22
14:55 |H > $Bsp. 2000 0 0 0 0 A21
&F 2974 - -




BN AUNER-IUANEOHBRR \BE 3/17)

2015418178 SAUE YR 5 1345 ~  16:40 (1/1)
R RATE B (m) FEEEE | mesh
il E4 B | 92 85 ®2 |=@| ™ | N
14:38 |ES 94 12 0 0 0 0 D9
14:47 |ES 94 2 10 10 0 250 D9
14:55 |H > 4$8sp. 50 0 0 0 0 D13
15:26 |ES 94 10 10 15 0 800 D8
16:12 |ES 94 7 100 200 150 2500 -
16:32 |ES 94 8 100 150 150 3000 -
a5t 89 - - - - - =

2015418178 SAUE YR 5 1415 ~  16:00 (1/1)
EIES RATE B (m) FEEEE | mesh
il 4 BA% | 92 85 #2 |z ™ | N
15:17 |ES 94 20 15 25 25 3000 | F12
15:46 |ES 94 7 0 0 0 0 F2
&5t 27 - - - - - -

2015418178 SAUE YR 5 1430 ~  16:10 (1/1)
R RATE B (m) FEEEE | mesh
il E4 Bk | 92 85 #2 |=@| ™ | N
15:43 |ES 94 18 30 60 40 150 E9
15:55 |H > $Bsp. 8 20 20 20 500 E8
&5t 26 - - - - - -

2015418188 SAUE YR 5 850 ~  13:15 (1/1)
R HRATE B (m) FEEEE | mesh
il E4 BA% | 92 85 #2 |=@| ™ | N
9:43 |ELHA 24 0 0 0 0 A35
12:08 |/\JF3%Esp. 70 0 0 0 0 -
12:35 |ES 94 12 0 0 0 0 A4l
12:49 |ES 94 4 20 20 20 1000 | A41
12:55 |#AA/\9Fay 8 80 80 0 300 -
&t 118 - - - - - -

2015418188 SAE YR 5 915 ~  13:20 (1/1)
R RATE B (m) FEEEE | mesh
il 4 Bk | 92 85 #2 |=@| ™ | N
9:19 |[ESHA 270 0 0 0 0 B20
9:36 |H>%Esp. 16 30 30 30 300 | B2t
10:03 |ES 94 6 20 20 20 200 | B21
10:15 |<HY 63 20 20 20 200 | B21
10:40 |<HY 25 20 20 20 200 | B16
10:41 |<HY 70 0 0 0 0 B16
10:41 |ESHA 50 0 0 0 0 B16
10:54 |<HY 4 20 20 20 200 | B16
11:24 |<HY 4 300 B8
11:43 |<HY 50 0 0 0 0 B8
11:43 |ES9A 80 0 0 0 0 B12
11:43 |<HY 120 0 30 30 1000 | B12
11:43 |<HY 60 10 30 30 500 | B13
11:58 |H > 4$Esp. 30 0 0 0 0 B5
11:58 |H > 4$Esp. 25 0 0 0 0 B5
1219 |ES 94 6 30 30 30 200 | B37
12:29 |ES 94 8 30 30 30 200 | B37
&8 887 = = = = = =




BN AUNEF-IUANEOHBRR \BRE 4/17)

2015418188 SAUE YR 5 940  ~  15:00 (1/1)
R RATE B (m) FEEEE | mesh
il E4 BA% | 92 85 #&2 |=@| ™ | N
10:15 |ES 94 50 0 0 0 0 B38
10:22 |ES 94 7 10 20 20 200 | B38
10:23 |ES 94 10 20 15 400 | B38
10:33 |ES 94 80 0 0 0 0 B39
10:48 |ES 94 2 0 0 0 0 B39
1051 |ES 94 17 17 17 200 | B39
11:04 |ESHA 7 15 15 15 200 | B39
11:14 |ESHA 20 30 30 0 2000 | B11
11:15 |ES 94 8 15 15 15 200 | B39
11:20 |ES 94 12 0 15 15 200 | B39
11:30 |H > 4Esp. 73 0 0 0 0 C2
11:38 |H > 4Esp. 260 0 0 0 0 C2
12:00 |H > %Esp. 6 0 0 0 0 c3
12:25 |H > 4$Esp. 100 0 0 0 0 C6
12:45 |AA TS 1 0 0 0 0 -
12:50 |ES 94 300 0 0 0 0 c9
13:02 |ESH9A 60 0 0 0 0 c15
13:05 |ES 94 30 0 0 0 0 ci5
13:15 |ES 94 40 0 0 0 0 c19
13:30 |A#>R7Y 1 0 0 0 0 -
13:35 |H > 4Esp. 400 0 0 0 0 C14
14:18 |H > 4$Esp. 400 0 0 0 0 c18
14:39 |H > 4$Bsp. 35 30 30 30 1000 | D2
a&t 1904 = = = = =
2015418188 SAUE YR %5 1330 ~  15:35 (1/1)
R RATE B (m) FEEEE | mesh
il 4 B | 92 85 #2 |z ™ | N
13:32 BV 94 85 0 0 0 0 H4
13:43 |a/\9F3™y 9 30 30 5 400 -
13:45 |H > 4$Esp. 350 0 0 0 0 H5
13:45 |AA/\oF3 2 0 0 0 0 H5
14:00 |3/\7F3™y 7 20 30 20 500 -
14:02 |AA/\oF3H 9 30 50 30 500 -
14:07 |AA/\oF3H 12 20 30 30 500 -
14:09 |3/\7F3™y 8 15 30 30 500 -
14:12 |a/\9F3™y 8 15 30 30 500 -
14:15 |a/\9F3™y 8 10 30 20 500 -
14:16 |ES 94 16 10 20 10 500 -
14:32 |ES 94 80 20 50 0 1200 | H5
14:33 |H > 4$8sp. 50 0 0 0 0 H9
15:09 |ES 94 34 0 0 0 0 H2
15:26 |AA/\oF3y 19 0 0 0 0 -
15:32 |ES 94 7 5 50 30 1500 | H10
&5t 704 - - - - -
2015418198 SAUE YR 5 850 ~  10:20 (1/1)
R RATE B (m) FEEEE | mesh
il 4 Bk | 92 85 #2 |z ™ | N
9:04 |/\UFI3¥Esp. 300 0 0 0 0 -
9:23 |H>$Esp. 300 0 0 0 0 H11
9:53 |/\UFI3¥Esp. 50 0 0 0 0 -
&t 650 = = = = = =
2015418198 SAUE YR %5 905 ~  10:20 (1/1)
R RATE B (m) FEEEE | mesh
il 4 Bk | 92 85 #&2 |z ™ | N
9:27 |A>¥BTY 1 20 30 10 2000 | G6
AN E

[=R-]




BN AUNER-IUANEOHBRR J\BRE 5/17)

2015418198 SAUE YR %5 9200 ~  10:30 (1/1)
R RATE B (m) FEEEE | mesh
il E4 BA% | 92 85 #&2 |=@| ™ | N
10:27 |AA TS 1 0 0 0 0 -
10:28 |7 $8sp. 1 0 0 0 0 -
&5t 2 - - - - - -

2015418198 SAUE YR 5 11:50  ~  14:20 (1/1)
R RATE B (m) FEEEE | mesh
il 4 BA% | 92 85 #2 |z ™ | N
11:55 |H > 4$Esp. 200 0 0 0 0 -
11:58 |ES 94 4 50 50 30 500 | B37
1241 |AA/\o9F3a 50 0 0 0 0 -
1211 |#>R7Y 1 0 0 0 0 -
12:17 |7\ F3Esp. 20 0 0 0 0 B37
12:46 |H > 4$Esp. 200 0 0 0 0 B37
13:19 |H > 4Esp. 80 20 30 20 500 | B36
13:35 |H > $Bsp. 600 0 80 10 2000 | B35
&5t 1155 - - - - - -

2015518198 BE BHl 12:00 ~  14:20 (1/1)
R RATE B (m) FEEEE | mesh
il 4 Bk | 92 85 #&2 |=@| ™ | N
12:03 [wH> 5 10 20 20 300 | B28
12:04 |H > 4$Esp. 5 40 40 40 300 | B3t
12:23 |H > 4$Esp. 3 20 20 0 300 | B15
12:25 |H > 4$Esp. 7 20 20 0 300 | B14
12:35 |H > 4$Esp. 4 30 30 30 2000 | B30
12:42 |H > 4$Bsp. 150 0 0 0 0 C25
12:43 |H > 4$8sp. 30 0 0 0 0 B34
12:49 |H > $Esp. 30 0 0 0 0 C16
12:49 |H > $Esp. 70 0 0 0 0 C24
12:49 |H > $Esp. 20 0 0 0 0 c21
13:08 |H > %Esp. 20 0 0 0 0 B33
13:08 |H > 4Esp. 40 0 0 0 0 B33
13:20 |ES 94 42 0 0 0 0 Al1
13:23 |ES 94 400 0 0 0 0 Al1
13:27 |H > 4$Esp. 15 0 0 0 0 Al1
13:30 |ES 94 200 0 0 0 0 Al5
13:30 |H > 4Esp. 130 0 0 0 0 Al5
13:32 |H > 4Bsp. 15 0 0 0 0 Al5
13:34 |ES 94 8 0 0 0 0 Al5
13:40 |ES 94 2 0 0 0 0 A22
13:58 |ES 94 100 0 0 0 0 Al2
13:58 |ES 94 200 0 0 0 0 Al2
13:58 |H > 4$Esp. 100 0 0 0 0 A16
13:58 |H > 4Esp. 200 0 0 0 0 A13
13:58 |H > 4$Esp. 50 0 0 0 0 A13
14:08 |ES 94 7 20 30 20 1000 | A17
14:10 |ES 94 3 0 0 0 0 A20
14:15 |H > $Bsp. 50 0 0 0 0 A28
&8 1906 = = = = =




BN AUNER-IUANEOHBKR J\BE 6/17)

2015515208 BE Bl 810 ~ 1520 (1/2)
EIES RATE B (m) FEEEE | mesh
il E4 Bk | 92 85 #2 |=@| ™ | N
8:26 |EL A 150 0 0 0 0 -
8:32 |A¥mA7Y 1 0 0 0 0 -
8:31 |Ev 494 15 0 0 0 0 -
8:39 |H> $Esp. 120 0 0 0 0 -
8:41 |H $Esp. 13 20 20 20 300 -
9:00 |/\UF3¥Esp. 70 0 0 0 0 -
9:00 |AA/\NIF3H 10 0 0 0 0 -
9:00 [H > %Hsp. 5 0 0 0 0 -
10:20 |H > 4Esp. 30 0 0 0 0 Al4
10:30 |H > %Esp. 60 0 0 0 0 A5
10:37 |ES 94 12 0 0 0 0 H14
10:46 |ES 94 7 0 0 0 0 H31
10:58 |H > 4Esp. 1 50 50 50 300 -
11:06 |ES 94 3 0 0 0 0 H23
11:08 |ES 94 28 0 0 0 0 H20
11:09 |H > 4Esp. 3 0 0 0 0 H20
11:13 | H > 4$Esp. 30 0 0 0 0 H14
11:15 |H > 4$8sp. 150 0 0 0 0 H15
11:19 [<H> 9 0 0 0 0 H15
11:22 |H > 4$Esp. 20 0 0 0 0 H20
11:48 |ES 94 6 0 20 20 200 | G8
11:52 |ES 94 4 15 15 15 200 | G9
11:54 |H > 4$Bsp. 90 0 0 0 0 G13
1212 |ES 94 50 0 0 0 0 F19
12:12 | H > 4$Bsp. 80 0 0 0 0 F19
12:13 |H > $Bsp. 150 0 0 0 0 F19
&t 1117 - - -

20154515208 BE Bl 810 ~  15:20 (2/2)
EIES RATE B (m) FEEEE | mesh
il 4 Bk | 92 85 #2 |z ™ | N
12:50 |H > 4$Esp. 200 0 0 0 0 F19
14:43 |AA/\9F3H 11 0 0 0 0 -
14:48 |3/\IF3™y 5 0 0 0 0 -
14:48 |/\JF3)$Esp. 40 0 0 0 0 -
14:54 |AA/\IF3™y 80 0 0 0 0 -
15:00 |A>A7Y 1 0 0 0 0 -
15:02 |3/\7F3™y 20 0 0 0 0 -
15:02 |/\F3Esp. 30 0 0 0 0 -
15:04 |A>A7Y 1 0 0 0 0 -
15:05 |A#>A7Y 1 0 0 0 0 -
15:07 |/\7F3%Esp. 55 0 0 0 0 -
15:07 |AA/\oF3ay 5 0 0 0 0 -
15:07 |3/\7F3y 3 0 0 0 0 -
&t 452 - - -

201542 F 238 SAUE YR 5 1400 ~  16:50 (1/1)
R RATE B (m) FEEEE | mesh
il E4 Bk | 92 85 #&2 |z ™ | N
14:25 £ 94 6 0 50 0 1000 | A35
14:27 |H > 4$Bsp. 200 0 0 0 0 A35
14:40 |AA/\IF3H 5 50 100 30 1800 -
15:05 |ES 94 15 0 0 0 0 A39
15:32 | H > 4$Esp. 300 0 0 0 0 A39
15:39 |ES 94 7 0 0 0 0 A39
15:58 |AA/\IF3y 30 50 100 100 2500 -
16:05 |ES 94 8 0 0 0 0 A4l
16:09 |AA/\oF3y 13 30 100 50 1000 -
16:25 |H > %$Esp. 25 0 0 0 0 H8
16:27 |ES 94 8 0 0 0 0 H4
16:27 [wH> 2 0 0 0 0 H4
16:31 |ES 94 12 0 0 0 0 H4
16:42 |H > $Bsp. 150 0 40 0 1200 | H8
&5t 781 = = - -




BN AUNER-IUANEOHBRR B 7/17)

201542 F 238 SAUE YR 5 1405 ~  16:30 (1/1)

R RATE B (m) FEEEE | mesh
il E4 Bk | w2 B85 #£R |z=a]| ™ | N
14:.05 |H > 4$Esp. 30 0 0 0 0 B20
14:.05 |H > 4$Esp. 40 0 0 0 0 B22
14:.05 |H > 4$Esp. 30 0 0 0 0 B22
14:12 |H > 4$8sp. 80 0 0 0 0 B24
1417 |H > 4$8sp. 100 0 0 0 0 B22
14:25 |ES 94 35 0 0 0 0 B22
14:26 |ES 94 28 60 60 60 500 | B21
14:43 |ES 94 17 0 0 0 0 B21
14:49 |ES 94 2 50 50 50 500 | B12
1459 |ES94A 15 0 0 0 0 B16
15:09 |ES 94 8 0 0 0 0 B16
15:21 |H > 4$8sp. 7 50 50 50 500 | B12
15:31 |H > 4$8sp. 8 0 0 0 0 B13
15:31 |H > 4Esp. 250 0 0 0 0 B9
15:31 |H > 4Esp. 15 0 0 0 0 B9
15:50 |ES 94 4 0 0 0 0 B37
15:53 |ES 94 9 10 30 30 300 | B37
15:55 |H > 4$Esp. 18 20 30 30 500 B3
15:55 |ES 94 9 0 0 0 0 B36
16:00 |ES 94 100 0 30 30 500 | B37
16:00 |H > %Esp. 250 0 30 30 500 | B37
16:00 |H > %Esp. 200 0 30 30 500 | B37
16:05 |ES 94 120 0 30 30 500 | B37
16:12 |H > 4Bsp. 250 0 30 30 1000 | B35
16:15 |H > %$Esp. 150 0 3 30 1000 | B37
16:27 |ES 94 6 40 40 40 1000 | B37

&t 1781 = = = = = =

201542 F 238 SAUE YR 5 1420 ~  17:00 (1/1)

R RATE B (m) FEEEE | mesh
il 4 BA% | 92 85 #2 |=@| ™ | N
14:27 |ES 94 6 0 0 0 0 B38
14:28 |ES 94 10 0 0 0 0 B2
14:35 |H > 4$Esp. 250 40 40 0 1000 | B2
14:50 |ES 94 160 0 0 0 0 B39
15:19 |<HY 17 0 0 0 0 B4
15:40 |ES 94 100 0 0 0 0 C4
15:45 |H > 4$Esp. 60 0 0 0 0 C7
15:50 |H > 4$Esp. 80 0 0 0 0 C6
16:09 |ES 94 70 0 0 0 0 C6
16:10 |/\F3%Esp. 50 0 0 0 0 -
16:17 |H > 4$Esp. 100 0 0 0 0 Ct
16:20 |H > 4Esp. 100 0 0 0 0 C5
16:30 |ES 94 10 40 40 0 700 -
16:33 |H > 4Esp. 6 80 80 80 1000 -
16:50 |H > $Bsp. 700 0 0 0 0 C23

&t 1719 = = = = = =




BN AUNER-IUANEOHBRR J\BE 8/17)

201542 H24H SAUE YR 5 925 ~  16:32 (1/2)

R RATE B (m) FEEEE | mesh
il E4 BA% | 92 85 #&2 |=@| ™ | N
9:25 |AAT 1 20 20 20 1000 -
9:25 |EL 94 15 0 0 0 0 H5
9:30 |EV A 20 0 0 0 0 H5
9:30 |H>%Esp. 15 0 0 0 0 H5
9:30 |EV A 8 0 0 0 0 H5
9:37 |EVHA 100 0 0 0 0 H5
9:37 |*HAY 20 0 0 0 0 H5
9:44 LA 50 0 0 0 0 H5
9:47 |EVHA 1 20 20 20 H5
9:48 |ELHA 12 0 0 0 0 H5
9:57 |<HY 35 15 50 0 1000 | H5
10:02 |ES 94 100 80 100 0 1000 | H2
10:02 |H > 4Esp. 500 50 100 30 4000 -
10:08 |ES 94 250 0 0 0 0 -
10:36 |ES 94 60 0 0 0 0 H6
10:39 |ES 94 250 30 30 0 500 H3
10:44 |ESHA 500 0 50 0 1000 | H3
10:53 |ES 94 9 0 0 0 0 H7
10:59 |ES 94 6 80 80 0 1000 | H3
11:06 |ES 94 17 30 100 10 1800 | H3
11:06 |<wHY 4 50 100 10 1800 | H3
11:10 |ESH9A 6 50 100 10 1500 | H7
11:10 |<HY 250 50 100 10 1500 | H7
11:11 |ES9A 12 80 150 10 1800 | H3
11:15 |ES 94 8 50 50 0 800 | H16
11:27 |ES94 6 100 100 30 1000 | H12
11:34 |ES 94 6 20 40 0 1000 | H12

&t 2261 - - - - - -

201542 H24H SAUE YR 5 925 ~  16:32 (2/2)

R RATE B (m) FEEEE | mesh
il 4 Bk | 92 85 #2 |z ™ | N
1312 |#>R7Y 1 30 30 15 2000 | G8
13:18 |#>A7Y 1 100 500 500 1500 -
13:27 |<HY 50 0 0 0 0 G12
13:27 |<HY 300 0 0 0 0 G12
13:35 |<wHY 180 0 0 0 0 Gl
13:52 |H > 4$Bsp. 100 0 0 0 0 G18
14:10 |A>R7Y 1 8 80 20 4000 -
1412 |A>R7Y 1 100 200 30 5000 -
14:33 |<wHY 2 50 50 20 1000 | G15
14:39 |<HY 30 50 50 30 1000 | G15
14:47 |<HY 12 10 50 10 2500 -
14:50 |<HY 1 50 50 20 2000 | F4
1457 |<HY 4 20 50 10 2000 -
15:05 |<HY 3 30 30 20 1000 | F4
15:10 |<wHY 250 50 50 20 800 F4
15:26 |<HY 6 50 50 30 2000 -
15:28 |<HY 7 50 50 50 1000 | F3
15:35 |<wHY 10 30 50 20 1200 -
15:39 |<HY 5 50 50 30 1000 -
15:40 |<HY 12 20 30 20 1000 | F9
15:58 | HY 60 0 0 0 0 F9
16:02 |<wHY 4 50 50 30 1000 | F2
16:15 |<wHY 6 30 50 30 1000 | F2
16:20 |<HY 8 50 50 50 1000 | F2

=1 1054 - - - - - -




BN AUNER-IUANEOHBKR J\BRE 9/17)

20154E2 F 248 SAUE YR 5 945  ~  16:30 (1/3)

R RATE B (m) FEEEE | mesh
il E4 BA% | 92 85 #&2 |=@| ™ | N
9:45 |H>$Esp. 50 0 0 0 0 C14
9:46 |EL A 26 40 40 0 1000 -
10:18 |ES 94 50 0 0 0 0 cl1
10:20 [/ \YF3 o $Esp. 40 50 50 50 500 | C11
10:25 |ES 94 60 0 0 0 0 ci1
10:34 |ES 94 100 0 0 0 0 c11
10:35 |ES 94 100 0 0 0 0 cl4
10:50 |H > 4Esp. 200 0 0 0 0 C14
1051 |A>RA7Y 2 0 0 0 0 -
10:52 |H > 4Esp. 400 0 0 0 0 C22
11:00 |H > 4Esp. 300 0 0 0 0 C23
11:05 |H > 4Esp. 200 0 0 0 0 C22
11:07 |H>4$Esp. 300 0 0 0 0 D2
11:10 |H > 4$Esp. 300 0 0 0 0 D6
11:15 |H > 4$8sp. 300 0 0 0 0 D10
11:16 |H > 4Esp. 300 0 0 0 0 D14
11:17 |H > 4$8sp. 300 0 0 0 0 D14
11:20 |H > 4Esp. 300 0 0 0 0 D14
11:22 |H > 4$Bsp. 300 0 0 0 0 D10
11:25 |H > 4$Esp. 300 0 0 0 0 D10
11:30 |H > 4Esp. 300 0 0 0 0 D6
11:35 |H > 4$Bsp. 300 0 0 0 0 D2
11:40 |H > $Esp. 300 0 0 0 0 D7
11:41 |H > 4$8sp. 300 0 0 0 0 D11
11:50 |H > 4$Esp. 300 0 0 0 0 D1
11:52 | H > 4$Bsp. 300 0 0 0 0 D7
12:00 |H > 4Esp. 300 0 0 0 0 D3
1205 |A#>A7Y 1 30 30 30 500 -
13:10 |H > 4$Esp. 100 0 0 0 0 D4
13:11 | H > $Bsp. 200 0 0 0 0 D12

a&t 6329 = = = = = =

20154E2 F 248 SAUE YR 5 945  ~  16:30 (2/3)

R RATE B (m) FEEEE | mesh
il E4 Bk | 92 85 #2 |z ™ | N
13:12 |H > $8sp. 100 0 0 0 0 D15
13:13 |H > 4Esp. 100 0 0 0 0 D15
13:14 |H > 4$8sp. 300 0 0 0 0 D12
13:15 |H > 4$Esp. 300 0 0 0 0 D12
13:18 |H > 4Esp. 200 0 0 0 0 D16
13:19 |H > 4Esp. 200 0 0 0 0 D16
13:20 |H > 4Esp. 200 0 0 0 0 D13
13:22 |H > $Esp. 100 0 0 0 0 D9
13:25 |H > 4$Esp. 400 0 0 0 0 D9
13:53 |a/\IF3y 19 0 0 0 0 E2
14:04 |I\NIHY 40 0 0 0 0 E3
14:.05 |H > 4$8sp. 300 0 0 0 0 E7
14:06 |H > 4$Esp. 300 0 0 0 0 E11
14:.07 |H > 4$8sp. 300 0 0 0 0 E11
1410 |H > 4$8sp. 300 0 0 0 0 E7
1411 |H > 4$8sp. 300 0 0 0 0 E7
1412 |H > 4$8sp. 300 0 0 0 0 E3
1413 |H > 4$8sp. 300 0 0 0 0 E3
14:14 |H > $8sp. 300 0 0 0 0 E7
14:15 |H > 4$8sp. 300 0 0 0 0 E3
14:20 |H > 4$Bsp. 100 0 0 0 0 E3
14:22 |H > 4$Bsp. 400 0 0 0 0 E4
14:25 |H > 4$Bsp. 400 0 0 0 0 E4
14:31 |H > 4$8sp. 400 0 0 0 0 E1
14:32 |H > 4$Bsp. 400 0 0 0 0 E8
14:35 |H > 4$Bsp. 400 0 0 0 0 E4
15:02 |H > 4$Esp. 600 0 0 0 0 E9
15:10 |# > %Fsp. 200 0 0 0 0 E12
15:11 |H > %Fsp. 300 0 0 0 0 E12
15:12 | %8sp. 100 0 0 0 0 E12

&t 7959 - -




BER AUHEE-TOANEOHBERR \BBER 10/17)

20154E2 F 248 SAUE YR %5 945 ~  16:30 (3/3)

R RATE B (m) FEEEE | mesh
il E4 BA% | 92 85 #&2 |=@| ™ | N
15:13 | H > 4$Esp. 500 0 0 0 0 E5
15:14 |7\ F3$Esp. 25 40 50 50 3000 -
15:20 [wH> 300 0 0 0 0 E5
15:26 [wH> 200 0 0 0 0 E9
15:31 |H > 4Esp. 200 0 0 0 0 E9
15:32 | H > 4Esp. 100 0 0 0 0 E12
15:38 | H > 4Esp. 200 0 0 0 0 E12
15:45 |H > 4$Esp. 200 0 0 0 0 E13
15:46 |H > $Esp. 200 0 0 0 0 E17
15:48 |H > 4$Esp. 200 0 0 0 0 E13
16:00 [wH> 12 70 70 0 2000 -
16:02 [wH> 20 40 40 0 1000 -
16:15 |H > %$Esp. 100 0 0 0 0 E13
16:20 |/\7F39%Esp. 50 0 0 0 0 E10

&t 2307 - - - - -

20154E2 F 248 BE Hl 955 ~  16:20 (1/5)

R RATE B (m) FEEEE | mesh
il 4 B | 92 85 #&2 |=@| ™ | N
9:55 |EL 94 30 0 0 0 0 C24
9:55 |H > $Esp. 500 0 0 0 0 C24
9:55 |H>$Esp. 500 0 0 0 0 C24
10:10 |H > %Esp. 300 0 0 0 0 C24
10:10 |ES 94 80 0 0 0 0 c23
10:13 |ES 94 200 0 0 0 0 c23
10:13 [wHY 200 0 0 0 0 c23
10:15 |H > 4Esp. 500 0 0 0 0 C23
10:17 |H > 4Bsp. 150 0 0 0 0 C22
10:18 |ES 94 5 0 0 0 0 C20
10:20 |<HY 1000 0 0 0 0 C16
10:20 |ES 94 50 0 0 0 0 C16
10:22 |H > 4Esp. 350 0 0 0 0 C16
10:25 |ES 94 9 0 0 0 0 ct
10:31 |ES 94 10 0 0 0 0 C25
10:37 |<HY 150 0 0 0 0 B30
10:38 |ES 94 100 0 0 0 0 B30
10:39 |H > 4Esp. 20 0 0 0 0 B19
10:39 |ES 94 140 0 0 0 0 B19
10:43 |ES 94 12 0 0 0 0 B33
10:44 |<HY 50 0 0 0 0 B33
10:59 |ES 94 11 0 0 0 0 B18
11:04 |ES9A 90 0 0 0 0 B18
11:04 |<HY 40 0 0 0 0 B18
11:05 |ES9A 200 0 0 0 0 B29
11:05 |<wHY 70 0 0 0 0 B29
11:08 |H > 4Esp. 150 0 0 0 0 B29
11:09 |H > 4$Esp. 200 0 0 0 0 B31
11:10 |ESH9A 5 0 0 0 0 B28
11:11 |H > $8sp. 30 0 0 0 0 B31

=1 5152 - -




BER AUHEE-TOANEOHBERR\BER 11/17)

2015%2H24H BE BHMl 9:55 ~  16:20 (2/5)

R RATE B (m) FEEEE | mesh
il E4 Bk | 92 85 #&2 |z ™ | N
11:13 | H > $8sp. 200 20 30 0 500 | B27
11:16 |H > 4Esp. 200 0 0 0 0 B33
11:16 |H > 4Esp. 300 0 0 0 0 B33
11:22 |ES9A 12 0 0 0 0 B26
11:26 |ES 94 450 0 0 0 0 B24
11:28 |H > 4$Esp. 130 0 0 0 0 B22
11:36 |H > %$Esp. 300 0 0 0 0 B34
11:39 |H > $Esp. 100 0 0 0 0 C24
11:48 |H > 4$Esp. 300 0 0 0 0 D17
11:48 |H > 4$Esp. 30 0 0 0 0 D21
11:50 |H > 4$Esp. 200 0 0 0 0 D18
11:53 |H > 4$Esp. 200 0 0 0 0 D1
11:54 |H > $Bsp. 500 0 0 0 0 D18
11:54 |H > 4$8sp. 500 0 0 0 0 D1
11:55 |H > 4$Esp. 500 0 0 0 0 D18
11:59 |H > $Esp. 500 0 0 0 0 D15
12:00 [wH> 5 0 0 0 0 D19
12:00 |ES 94 13 0 0 0 0 D19
12:01 [<H> 20 0 0 0 0 D19
1201 |ESH9A 25 0 0 0 0 D19
12:07 |<HY 13 0 0 0 0 D25
12:08 |<HY 12 0 0 0 0 D25
12:10 |H > $Bsp. 300 0 0 0 0 D23
12:14 |H > 4$Bsp. 900 0 0 0 0 D20
12221 |<HY 4 0 0 0 0 E14
12:25 |H > 4$Esp. 500 0 0 0 0 E18
12:26 |H > 4$Esp. 200 0 0 0 0 E21
12:30 |H > $Bsp. 150 0 0 0 0 E23

&it 6564 - - -

201552248 BE Bl 955 ~ 16:20 (3/5)

EIES RATE B (m) FEEEE | mesh
il 4 Bk | 92 85 #&2 |z ™ | N
12:38 |<HY 60 0 0 0 0 E23
12:51 |H > 4$8sp. 2000 0 0 0 0 E24
12:53 |H > 4$Esp. 30 0 0 0 0 E22
12:54 |<HY 40 0 0 0 0 E22
1257 |<HY 150 0 0 0 0 E19
12:59 |ES 94 7 0 0 0 0 E19
1259 |<HY 2 0 0 0 0 E19
13:01 |H>4$Esp. 500 0 0 0 0 E16
13:04 |H > 4$Esp. 100 0 0 0 0 E15
13:05 |H > 4$Esp. 40 0 0 0 0 E15
13:07 |H > 4Esp. 2000 0 0 0 0 E15
13:09 |H > 4Esp. 2000 0 0 0 0 E1
13:11 | H > 4$8sp. 400 0 0 0 0 E15
13:13 | H > 4Esp. 300 0 0 0 0 E12
13:21 |AA/\oF3H 60 0 0 0 0 E20
13:24 |<HY 1300 0 0 0 0 E20
13:26 |<wHY 1000 0 0 0 0 E20
13:28 |H > 4Esp. 100 0 0 0 0 E22
13:29 |H > 4$Esp. 500 0 0 0 0 E22
13:50 |<HY 200 0 0 0 0 F25
13:50 |ES 94 10 0 0 0 0 F25
13:54 |<HY 300 0 0 0 0 F25
13:54 |ES 94 50 0 0 0 0 F25
14:02 |<HY 40 0 0 0 0 F27
14:05 |<HY 140 0 0 0 0 G22
14:.07 |H > 4$8sp. 50 0 0 0 0 G22
14:.07 |H > 4$8sp. 300 0 0 0 0 G22
14:09 |H > 4$Esp. 200 0 0 0 0 G22
14:11 |H > %Fsp. 150 0 0 0 0 G21
14:14 |<HY 21 0 0 0 0 G21

&t 12050 - -




BER AUHEE-TOANEOHBERR \BRER 12/17)

2015%2H24H BE BHMl 9:55 ~  16:20 (4/5)

R RATE B (m) FEEEE | mesh
il E4 BA% | 92 85 #&2 |=@| ™ | N
14:25 |H > 4$Esp. 10 0 0 0 0 G19
14:25 [<H> 60 0 0 0 0 G19
14:27 |H > 4$8sp. 700 0 0 0 0 G18
14:30 |H > 4$Esp. 20 0 0 0 0 F15
14:31 |H > 4$8sp. 50 0 0 0 0 F15
14:32 [<H> 80 0 0 0 0 F18
14:35 [<H> 400 0 0 0 0 F21
14:38 [wH> 40 0 0 0 0 F21
14:38 |H > 4$Esp. 200 0 0 0 0 F21
14:40 [<H> 20 0 0 0 0 F24
14:42 |<H> 60 0 0 0 0 F24
14:45 [<H> 6 0 0 0 0 F26
14:46 |H > 4$Esp. 50 0 0 0 0 F26
14:55 [<H> 25 0 0 0 0 F23
14:57 [<H> 15 0 0 0 0 F20
14:59 [<H> 10 0 0 0 0 F17
15:00 [wH> 10 0 0 0 0 F1
15:02 [wH> 25 0 0 0 0 F1
15:03 [wH> 10 0 0 0 0 F1
15:05 |H > %Esp. 150 0 0 0 0 F13
15:06 |<wHY 50 0 0 0 0 F15
15:06 |ES 94 20 0 0 0 0 F15
15:06 |H > %$Esp. 200 0 0 0 0 F15
15:06 |H > %Esp. 200 0 0 0 0 F13
15:19 |H > 4$Esp. 30 0 0 0 0 G19
15:20 |H > 4$Esp. 100 0 0 0 0 G19
15:24 |ES 94 30 0 0 0 0 G21
15:24 |<HY 15 0 0 0 0 G21
15:25 |ES 94 40 0 0 0 0 G22

&t 2626 - - -

2015%2H24H BE BHMl 955 ~  16:20 (5/5)

R RATE B (m) FEEEE | mesh
il 4 Bk | 92 85 #&2 |z ™ | N
15:26 |H > %$Esp. 300 0 0 0 0 G13
15:27 |H > 4$Bsp. 200 0 0 0 0 G13
15:32 | H > 4$Bsp. 80 0 0 0 0 G13
15:34 |H > 4$Esp. 200 0 0 0 0 G1
15:50 |H > %$Esp. 4 0 0 0 0 H26
15:58 | HY 5 0 0 0 0 H30
15:58 |H > $Esp. 40 0 0 0 0 H30
16:07 |H > %Esp. 15 0 0 0 0 H25
16:12 |H > 48sp. 4 0 0 0 0 H27
16:14 |H > 4$8sp. 10 0 0 0 0 H29
16:16 |H > $Bsp. 30 0 0 0 0 H29

&5 888 - -




BER AUHEE-TOANEOHBERR \BRER 13/17)

20155 2H25H BE BHMl 9:00 ~ 16:30 (1/2)

R RATE B (m) FEEEE | mesh
il E4 Bk | 92 85 #&2 |=@| ™ | N
9:00 |/\YUF3U¥Esp. 800 0 0 0 0 -
910 [/\UFaro%Esp. 300 0 20 20 500 -
910 [wHY 5 30 30 30 300 -
912 [wHY 12 30 30 30 500 -
9:18 |EV A 22 20 30 30 500 -
9:19 |EVHA 20 30 30 30 500 -
9:20 [wHY 25 30 30 30 500 -
9:46 [wH> 300 30 30 0 1000 -
954 [wHY 16 30 30 30 500 -
9:57 |EVHA 8 0 0 0 0 -
9:59 |/\UFI3yEsp. 7 0 0 0 0 -
10:06 |ES 94 40 0 0 0 0 -
10:06 |H > %Esp. 30 0 0 0 0 -
10:10 |ES 94 40 0 0 0 0 -
10:10 [wH> 20 0 0 0 0 -
10:53 |H > 4Esp. 8 40 40 40 500 -
11:00 |ESH9A 35 0 0 0 0 -
11:00 |/\F34Esp. 5 0 0 0 0 -
11:03 |/\UF3$Esp. 300 0 0 0 0 -
11:06 |H > %$Esp. 150 0 0 0 0 -
11:07 |ESH94 50 0 0 0 0 -
11:09 |ES94 30 0 0 0 0 -
11:11 |ES9A 20 0 0 0 0 -
11:11 | H > $8sp. 80 0 0 0 0 -
11:15 |ES 94 25 0 0 0 0 -
11:15 |ES 94 25 0 0 0 0 -
11:29 [wHY 50 0 0 0 0 -
11:29 |ES 94 60 0 0 0 0 -
11:37 [wHY 50 0 0 0 0 -
11:37 |ES 94 150 0 0 0 0 -

&t 2683 - - -

201552258 BE BE@ 900 -~ 16:30 (2/2)

R RATE B (m) FEEEE | mesh
il E4 Bk | 92 85 #£2 |=@| ™ | N
11:40 |ESH9A 150 0 0 0 0 -
11:40 [wH> 50 0 0 0 0 -
11:50 |ES 94 40 0 0 0 0 -
11:50 [<H> 15 0 0 0 0 -
11:54 |ES 94 80 0 0 0 0 -
11:54 [<H> 20 0 0 0 0 -
11:54 |3\ F3™y 2 0 0 0 0 -
12:39 |H > 4$Esp. 2 80 80 80 500 -
12:45 [<H> 60 0 0 0 0 -
12:45 |H > $Esp. 400 0 0 0 0 -
12:45 |/\JF3$Esp. 20 0 0 0 0 -
12:45 [<H> 60 0 0 0 0 -
12:45 [<H> 80 0 0 0 0 -
12:50 |<HY 100 0 0 0 0 -
12:50 [wH> 50 0 0 0 0 -
12:53 |H > 4$Esp. 30 0 0 0 0 -
14:10 |H > 4$8sp. 100 0 0 0 0 -
14:58 |H > 4$8sp. 4 20 20 20 300 -
14:59 |H > 4$Esp. 30 20 20 20 300 -
15:13 |H > 4$8sp. 100 0 0 0 0 -
15:28 |ES 94 30 0 0 0 0 -
15:28 |<HY 100 0 0 0 0 -
15:33 |H > 4$Esp. 300 0 0 0 0 -
15:37 |<HY 200 0 0 0 0 -
15:37 |ES 94 30 0 0 0 0 -
15:37 |H > 4Esp. 200 0 0 0 0 -
15:40 |H > 4$Esp. 300 0 0 0 0 -
15:40 |AA/\oF3H 16 0 0 0 0 -
15:54 |AA/\oF3H 6 0 0 0 0 -
16:27 |/\JF3$8sp. 20 0 0 0 0 -

&t 2595 - -




BER AUHEE-TOANEOHBERR \BRR 14/17)

2015%2H25H BE Bl 913 ~ 13:25 (1/2)

R RATE B (m) FEEEE | mesh
il E4 BA% | 92 85 #2 |=@| ™ | N
9:14 |H>$Esp. 160 0 0 0 0 -
9:20 |H%Hsp. 50 0 0 0 0 -
9:22 |AA/NIFIYH 2 0 0 0 0 -
9:23 |H> $Esp. 40 0 0 0 0 -
9:34 |/\UFI3y¥Esp. 20 0 0 0 0 -
9:36 |AA/NIFIH 5 0 0 0 0 -
9:38 |EL A 15 0 0 0 0 -
9:45 |A>ATY 2 0 0 0 0 -
9:50 |H>$Esp. 50 150 200 200 2000 -
10:08 |ES 94 60 0 0 0 0 -
10:15 |H > 4$Esp. 250 0 0 0 0 -
10:55 |ES 94 35 0 0 0 0 Al2
11:05 |ES94 15 0 0 0 0 A22
11:10 [<H> 2 30 50 20 4000 | A24
11:15 |H > 4$8sp. 60 0 0 0 0 A22
11:20 |ESH9A 16 0 0 0 0 A31
11:25 |ES 94 110 0 0 0 0 A33
11:27 |ES94 20 0 0 0 0 A33
11:50 |ES 94 170 0 0 0 0 A5
1210 |ES 94 18 0 0 0 0 H13
12:12 | H > 4$8sp. 200 0 0 0 0 H13
1212 |V 2a9hSHY 2 0 0 0 0 H13
12:13 |H > 4Bsp. 36 0 0 0 0 H14
12:23 |ES 94 10 0 0 0 0 H18
12:24 |<HY 60 0 0 0 0 H14
12:24 |<HY 70 0 0 0 0 H14
12:30 |<HY 230 0 0 0 0 H18
12:35 |<wHY 100 0 0 0 0 H18
12:35 |<HY 80 0 0 0 0 H22
12:45 |<HY 150 0 0 0 0 H19

&t 2038 - - -

201545 2H25H BE Bl 913 ~ 13:25 (2/2)

EIES RATE B (m) FEEEE | mesh
il E4 Bk | 92 85 #2 |=@| ™ | N
12:47 |<HY 50 0 0 0 0 H20
12:50 |H > 4$Esp. 600 0 0 0 0 H20
12:59 |<HY 30 0 0 0 0 H16
12:59 |ES 94 50 0 0 0 0 H16
13:05 |ES 94 40 0 0 0 0 H16

&5 770 - -




BER AUHEE-TOANEOHBERR \BBER 15/17)

20154%3H6H BE Bl 11:40 ~  17:00 (1/4)
R RATE B (m) FEEEE | mesh
il E4 BA% | 92 85 #2 |=@| ™ | N
11:50 |a/\oF3ay 18 0 0 0 0 -
11:58 [wH> 5 30 30 30 300 -
11:58 |ES 94 2 30 30 30 300 -
11:59 |/\JF3Esp. 10 50 50 50 500 -
12:12 [=HY 7 30 30 30 1000 -
12:20 |AA/\oF3H 6 50 50 50 1000 -
12:25 |H > 4$Esp. 80 30 30 30 -
12:27 |=HY 10 30 30 30 200 -
12:30 |3\ F3a™y 15 0 0 0 0 -
12:31 |/\IF3$Esp. 120 0 0 0 0 -
12:31 [wHY 12 0 0 0 0 -
12:34 |AA/\9F3H 4 0 0 0 0 -
12:34 |3\ F3™y 14 0 0 0 0 -
12:50 |ES 94 120 0 0 0 0 -
12:50 |ES 94 30 0 0 0 0 -
12:50 |ES 94 50 0 0 0 0 -
12:50 |3\ F3™y 2 0 0 0 0 -
12:50 |ES 94 2 0 0 0 0 -
12:56 |H > 4$Esp. 80 0 0 0 0 H2
12:56 |ES 94 20 0 0 0 0 H2
1259 |ES 94 110 0 0 0 0 H3
13.00 |<HY 9 50 50 0 500 -
13:02 |ESH9A 4 30 30 30 300 | H12
13:14 |ES 94 1 30 30 30 200 | G7
13:15 |<wHY 6 50 50 50 300 | G7
13:16 |<wHY 2 20 20 20 200 | G10
13:18 |<HY 20 60 60 60 500 | G8
13:24 |H > 4$Bsp. 400 0 0 0 0 G12
13:27 |<HY 10 10 20 10 500 | Gi1
13:28 |H > $Bsp. 4 10 20 20 500 | Gi11
&t 1173 - - - - - -

20154%3H6H BE Bl 11:40 ~  17:00 (2/4)
R RATE B (m) FEEEE | mesh
il 4 Bk | 92 85 #2 |=@| ™ | N
13:36 |H > %Esp. 1 80 80 80 200 | G16
13:39 |<HY 4 60 60 60 300 -
13:40 |<HY 7 50 50 20 1000 | G17
13:55 |ES 94 5 60 60 60 300 F2
13:55 |<wHY 8 60 60 60 300 F2
13:57 |<HY 26 50 50 50 300 -
13:57 |<HY 45 70 70 70 300 -
14:03 |<wHY 5 50 50 50 200 F2
14:05 |AA/\oF3H 1 0 20 20 300 | E13
14:05 |ES 94 8 0 0 0 0 E13
14:14 |ES 94 110 0 0 0 0 E6
14:14 |ES 94 35 0 0 0 0 E10
14:28 |ES 94 150 0 20 20 0 E5
14:31 |ES 94 7 0 20 20 300 E4
14:37 |ES 94 140 0 0 0 0 E4
14:43 |ES 94 9 30 30 20 1000 | E7
14:49 |H > 4$8sp. 70 0 0 0 0 D5
14:50 |H > 4$Bsp. 60 0 0 0 0 D5
14:53 |H > 4$Bsp. 19 50 70 50 500 D4
14:56 |H > 4$Bsp. 100 0 0 0 0 D4
14:57 |H > 4$8sp. 25 0 0 0 0 D4
1459 |<HY 6 20 20 0 1000 | D3
15:01 |H > 4$8sp. 7 0 0 0 0 D3
15:01 |H > 4Esp. 4 0 0 0 0 D3
15:04 |ES 94 50 0 0 0 0 D3
15:06 |H > 4$Esp. 20 0 0 0 0 D3
1513 |AA4 TS 1 10 10 10 300 | C22
15:38 |ES 94 8 0 0 0 0 c18
15:38 |ES 94 30 0 0 0 0 c18
15:42 |ES 94 7 0 0 0 0 C14
&it 968 = =




BER AUHEE-TOANEOHBERR \BRER 16/17)

20154%3H6H BE HMl 11:40 ~  17:00 (3/4)
R RATE B (m) FEEEE | mesh
B %) E4 BA% | 92 85 #2 |=@| ™ | N
15:45 |H > 4$Esp. 350 0 0 0 0 C14
15:45 |ES 94 100 0 0 0 0 cl4
15:45 [<H> 100 0 0 0 0 Cl4
15:47 |H > 4$8sp. 30 0 0 0 0 C14
15:47 |ES 94 40 0 0 0 0 cl4
15:47 [<HY 40 0 0 0 0 cl4
15:51 [wHY 18 0 0 0 0 c11
1551 |ES 94 10 0 0 0 0 c11
15:53 |ES 94 22 0 0 0 0 c11
15:55 |H > 4$Esp. 220 0 0 0 0 ci1
16:02 |H > %Esp. 200 0 0 0 0 C5
16:02 |ES 94 300 0 0 0 0 C5
16:02 [wH> 10 0 0 0 0 C5
16:06 |H > %Esp. 100 0 0 0 0 c9
16:10 |ES 94 6 20 20 20 200 | C3
16:10 |H > %Esp. 300 20 50 20 500 C7
16:14 |H > 4$Esp. 200 0 0 0 0 c4
16:14 |H > 4$Esp. 1400 0 0 0 0 c4
16:14 |H > 4$Esp. 300 0 0 0 0 C4
16:14 |H > 4$Esp. 50 0 0 0 0 C7
16:17 |ES 94 15 0 0 0 0 C2
16:20 |H > %Esp. 1000 0 0 0 0 B7
16:22 |H > 4Esp. 500 0 0 0 0 B7
16:23 |H > 4$Esp. 300 0 0 0 0 B39
16:28 |H > %Esp. 200 0 0 0 0 B35
16:33 |ES 94 2 0 0 0 0 B35
16:37 |ES 94 2 0 0 0 0 B36
16:37 |H > 4Esp. 50 0 0 0 0 B37
16:38 |ES 94 2 20 20 10 500 | B36
16:39 |H > $Esp. 110 0 0 0 0 B37
&t 5977 = = = = = =
201543H6H BE Bl 1140 ~  17:00 (4/4)
R RATE B (m) FEEEE | mesh
il 4 Bk | w2 Bs #£R |[z=a]| ™ | b
16:45 |H > 4$Esp. 10 0 0 0 0 B9
16:50 |ES 94 9 0 0 0 0 B12
16:53 |ES 94 60 0 0 0 0 B12
16:55 |ES 94 26 0 0 0 0 B16
&5t 105 = - -
201543A6H BE Bl 1730 ~  17:40 (1/1)
R RATE B (m) FEEEE | mesh
B %I 4 Bk | 92 85 #2 |=@| ™ | N
17:30 |H > 4Esp. 100 0 0 0 0 H5
17:33 |H > 4Esp. 80 0 0 0 0 H5
17:37 |H > 4Bsp. 30 0 0 0 0 H2
17:38 |H > 4Esp. 130 0 0 0 0 H2
17:40 |ES 94 6 0 0 0 0 H2
17:40 |ES 94 16 0 0 0 0 H2
&F 362 - -




BER AUHEE-TOANEOHBERR\BR 17/17)

2015438 7H BE BHl 11:30 ~  16:50 (1/2)
EIES RATE B (m) FEEEE | mesh
B %) E4 BA% | 92 85 #2 |=@| ™ | N
13:51 |/\UF3$Esp. 2 0 0 0 0 -
14:00 |AA/\oF3 12 0 0 0 0 -
14:04 |/\IF379%Esp. 2 10 15 10 300 -
14:10 |H > 4$8sp. 200 200 200 100 3000 -
14:13 |H > 4$8sp. 11 200 200 100 3000 -
14:25 |H > 4$8sp. 200 0 0 0 0 -
14:25 [<H> 100 0 0 0 0 -
14:25 |ES 94 100 0 0 0 0 -
14:25 |3\ F3™y 28 0 0 0 0 -
14:25 |7\ F3$Esp. 100 0 0 0 0 -
14:25 |H > 4$8sp. 1000 0 0 0 0 -
14:25 [<H> 1000 0 0 0 0 -
14:25 |a/\9F3™y 200 0 0 0 0 -
14:25 |/\JF3$Esp. 100 0 0 0 0 -
14:42 |H > 4$Bsp. 80 100 100 100 300 -
14:45 |H > $8sp. 16 80 80 80 -
14:46 |3/\IF3™y 2 30 30 20 200 -
14:47 |a/\9F3™y 120 0 0 0 0 -
14:47 |<HY 1000 0 0 0 0 -
14:48 |<HY 450 0 0 0 0 -
14:48 |3/\9F3™y 50 0 0 0 0 -
1453 |<wHY 1200 0 0 0 0 -
14:53 |/\JF3)$Esp. 60 0 0 0 0 -
14:58 |/\JF3)$Esp. 1600 0 0 0 0 -
14:58 |<HY 800 0 0 0 0 -
15:37 |/\IF39%Esp. 20 50 50 50 500 -
15:50 |3/\IF3™y 80 0 0 0 0 -
15:50 |AA/\oF3y 10 0 0 0 0 -
15:50 [wH> 10 0 0 0 0 -
15:52 |7\ F3$Bsp. 400 0 0 0 0 -
&t 8953 - - -
201543A7H BE BEE 1130 ~  16:50 (2/2)
EIES RATE B (m) FEEEE | mesh
B %) 4 Bk | 92 85 #2 |=@| ™ | N
15:52 |<wHY 400 0 0 0 0 -
15:58 [wH> 30 0 0 0 0 -
15:58 |/\JF3$Esp. 90 0 0 0 0 -
15:58 |/\JF3Esp. 300 0 0 0 0 -
15:58 | HY 250 0 0 0 0 -
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6:10 |wAH> 1 46
612 |THY 1 47
6:12 |wHY 1 44
6:12 XA 1 51
612 |wAHY 1 40
6:12 XA 1 38
6:14 |THY 1 44
6:14 XA 1 %

6:14 |wAHY 1 49
6:14 |wAHY 1 42
6:14 |wAHY 1 43
6:14 XA 1 50
6:16 |wAHY 1 41
6:16 |wAHY 1 43
6:16 |wAHY 1 48
6:16 |wAHY 1 46
6:16 |wAH 1 45
6:16 |wAH 1 32
6:16 |wAH 1 5
6:16 |XA> 1 44
6:16 |vH> 1 48
6:18 |wAHY 1 45
6:18 |wAHY 1 39
6:18 |wAHY 1 43
6:18 |wHY 1 31
&% 30 sl I e R




BH AUhEHE-B7VEOHBKR (BB ERFAE 12/26)

201542 A 25H Em F2 545 ~ 757 (3/8)
nR AT (m) a8t
kil [EEd B | R &S #K@E =8| M
6:18 [wAHY 1 42
6:18 XA 1 36
6:18 XA 1 37
6:18 |wAHY 1 46
6:18 |vHY 1 44
6:18 XA 1 52
6:20 XA 1 36
6:20 [XH> 1 51
6:20 XA 1 53
6:20 [XH> 1 56
6:20 XA 1 39
6:20 XA 1 38
6:20 XA 1 38
6:20 |wAHY 1 42
6:20 XA 1 36
6:22 XA 1 32
6:22 XA 1 53
6:22 |wAHY 1 41
6:24 XA 1 35
6:24 XA 1 58
6:24 XA 1 62
6:24 XA 1 59
6:26 |vH> 1 44
6:26 XA 1 36
6:26 XA 1 38
6:28 XA 1 29
6:28 XA 1 57
6:30 |wAHY 1 43
6:30 |wAHY 1 40
6:30 |wH> 1 49

&t 30 = = - - -

201542 A 25H Em F2 545 ~ 757 (4/8)
e AT B E(m) e Be B
B4 % By | 92 &5 KR [FH) M
6:30 [wAH> 1 46
6:30 XA 1 52
6:32 |wAHY 1 46
6:32 |wAHY 1 5
6:32 XA 1 67
6:32 XA 1 51
6:32 |wAHY 1 48
6:32 |wAHY 1 42
6:32 XA 1 31
6:34 XA 1 63
6:34 XA 1 31
6:36 XA 1 %

6:38 XA 1 52
6:38 XA 1 30
6:38 |wAHY 1 45
6:38 XA 1 68
6:38 XA 1 74
6:38 |wAHY 1 66
6:38 |wAHY 1 23
6:40 |wAHY 1 47
6:40 |wAHY 1 34
6:40 |wAH> 1 %
6:40 |wAH> 1 38
6:40 |wAH> 1 52
6:40 |wAHY 1 26
6:42 |wAHY 1 48
6:42 |wAHY 1 43
6:42 |wAHY 1 54
6:42 |wAHY 1 46
6:42 |wHY 1 31
&% 30 sl I e R




BH AUhTEHE-B7VEOHBKR (BB ERFAE 13/26)

201542 A 25H Em F2 545 ~ 757 (5/8)
nR AT (m) a8t
kil [EEd B | R &S #K@E =8| M
6:44 XA 1 37
6:46 XA 1 36
6:48 XA 1 38
6:48 |wAHY 1 42
6:50 XA 1 26
6:50 XA 1 39
6:50 XA 1 25
6:52 |vHY 1 47
6:52 XA 1 31
6:54 XA 1 53
6:54 XA 1 38
6:54 |wAHY 1 43
6:54 |wAHY 1 40
6:56 XA 1 26
6:56 XA 1 28
6:56 XA 1 25
6:56 XA 1 20
6:56 |vH> 1 47
6:58 XA 1 57
7:00 (XA 1 35
7:00 XA 1 57
7:02 A 1 34
702 |%AY 1 41
704 |RA 1 35
7:04 XA 1 38
7:04 XA 1 30
704 |THY 1 47
7:04 XA 1 33
7:06 XA 1 66
706 |wHY 1 42

&t 30 = = - - -

201542 A 25H Em F2 545 ~ 757 (6/8)
e AT B E(m) e Be B
B4 % By | 92 &5 KR [FH) M
7:08 XA 1 36
7:08 XA 1 34
7:08 XA 1 29
7:08 XA 1 34
710 |[RA 1 25
710 |wAHY 1 48
710 |wAHY 1 45
710 |RA 1 57
712 |%AY 1 43
712 |=AY 1 41
712 |RAY 1 37
712 |=AY 1 41
712 |RAY 1 49
714 A 1 30
714 |RAY 1 34
714 XA 1 39
714 |RAY 1 32
714 |=AY 1 51
714 |%AY 1 34
716 |wAHY 1 50
716 |wAHY 1 33
718 |wAHY 1 50
718 |wAHY 1 53
718 |wAHY 1 41
7:20 |wAHY 1 35
720 |wAHv 1 49
720 |wAHY 1 40
7:20 |wAHv 1 37
720 |wAHY 1 24
722 |%AHY 1 34

&% 30 sl I e R




BH AUhEHE-B7VEOHBKR (BB ERFAE 14/26)

201542 F 250 7:57 (1/8)
IE AR
B Ba =8| m
724 |RA 28
724 XA 33
724 |RAY 32
7:26 XA %

7:26 XA 34
7:28 XA 27
728 |wAHY 44
7:28 XA 35
7:30 |*A 59
7:30 %A 32
7:30 %A 27
7:32 XA 31
7:32 |=A 34
734 |%AHY 24
7:38 XA 28
7:38 XA 33
7:38 XA 65
7:38 XA 29
740 |RA 35
740 |wAHY 45
740 |RA %
740 [RA 53
742 |=Av 41
742 (A 22
742 (A 27
742 XA 30
742 |RAY 49
744 XA 41
744 XA 40
744 [RA 32
At - -

201542 A 250 7:57 (8/8)
IE FREEAE
B Ba =8| m
746 [RA 1 23
746 |wAHY 1 41
746 |[XA 1 21
748 XA 1 36
748 XA 1 27
748 XA 1 37
7:50 %A 1 38
750 |wAHY 1 44
7:50 (XA 1 30
7:50 XA 1 29
752 |wAHY 1 44
752 |XA 1 38
752 |wAHY 1 45
752 |wAHY 1 48
754 |XA 1 29
756 |wAHY 1 46
7:56 XA 1 50
756 |wAHY 1 38

= B B




BH AUhTEHE-B7VEOHBKR (BB ERFAE 15/26)

20155 2H25H Em F1(1/2) 550 ~ 7:50 (1/2)
IR RATES FE(m) bt
EF %l BE BAs | 982 85 #& |[=p|
550 |[<AHY 400
552 <AV 200
554 |HY 310
556 |<HY 3700
558 |[<HY 450
6:00 |[wHY 2600
6:02 [wHY 120
6:04 |<HY 230
6:06 |[<HY 3550
6:.08 |[wHY 650
6:10 |[<AHY 500
6:12 |<AHY 8500
6:14 |<HY 4000
6:16 |<HY 4300
6:18 |<HY 33
6:20 |(wAHY 40
6:22 |<AHY 45
6:24 |<HY 500
6:26 |<HY 1200
6:28 <AV 600
6:30 [wAHY 40
6:32 <AV 40
6:34 |<HY 120
6:36 <AV 810
6:38 <AV 110
6:40 <AV 80
6:42 |<HY 45
6:44 |TAHY 440
6:46 |<HY 50
6:48 |wHY 110

&t 33773 = = = = =

20155 2H25H Em F1(1/2) 550 ~ 7:50 (2/2)
BIER AT FE(m) bt
E %l BE Bk | 92 55 &&E [=a]
6:50 |[wAHY 260
6:52 <AV 170
6:54 <AV 200
6:56 <A 130
6:58 <AV 230
7.:00 |(RAHY 180
7.02 (=AY 80
7:04 |RAY 80
7:06 |<AHY 700
7:08 |<AHY 230
710 |RAY 150
712 |=RAY 45
714 |RAY 140
7:16 |RAY 400
7:18 |RAY 55
7:20 (=AY 25
7:22 |=RAY 55
724 |RAY 40
7:26 (<A 25
7:28 |<AHY 80
7:30 [RAHY 50
7:32 |RAY 40
7:34 |RAY 25
7:36 |<AHY 65
7:38 |wAHY 35
7:40 |RAY 25
742 |=RAY 35
744 |RAY 20
746 |RAY 65
748 |<AHY 40

& 3675 = = = = -




BH AUhTEHE-B7VEOHBKR (BB ERFAE 16/26)

20155 2H25H EmR F1(2/2) 552 ~ 7:50 (1/9)
R RATES FE(m) e BE R
EZ BE B | 92 BE #R =8|
552 <AV 1 51.2
552 <AV 1 57.8
554 |HY 1 82.6
554 |<HY 1 60.6
554 |HY 1 60.8
554 |<HY 1 71.2
556 |<HY 1 71.8
556 |<HY 1 60
556 |<HY 1 63.6
556 |<HY 1 67.2
556 |<HY 1 60.4
558 |[<HY 1 65
558 <AV 1 82.2
558 |[<HY 1 64.8
558 <AV 1 73.8
558 <AV 1 76.4
6:00 |[wHY 1 73
6:00 |[wHY 1 73.8
6:.00 |[wAHY 1 97
6:00 |[wHY 1 50.4
6:00 |(wAHY 1 86.8
6:.02 |[wHY 1 85
6:02 [wAHY 1 67
6:.02 <AV 1 64
6:.02 [wAHY 1 74.2
6:.02 <AV 1 68.4
6:.02 [wHY 1 61.6
6:02 <AV 1 71
6:04 |<HY 1 68
6:04 |<HY 1 89.2

&t 30 = = = = -

20155 2H25H EmR F1(2/2) 552 ~ 7:50 (2/9)
R AT FE(m) A BE R
E %l BE B | 92 55 &2 [=a]
6:04 |<HY 1 92.6
6:04 |(<HY 1 61.2
6:04 |<HY 1 70.2
6:.06 |[<HY 1 57.8
6:06 |(<HY 1 84.8
6:.06 |[<HY 1 67.8
6:.06 |[<HY 1 59.2
6:06 |(<HY 1 58.6
6:06 |[<HY 1 49.4
6:06 |<HY 1 64.4
6:08 |[wHY 1 63.6
6:08 |[wHY 1 64.4
6:08 |[wHY 1 57.8
6:08 |[wHY 1 70.8
6:08 |[wHY 1 58.6
6:08 |[wHY 1 141
6:08 |[wHY 1 179.8
6:10 |[wAH> 1 88.2
6:10 |[<HY 1 108
6:10 |[wAHY 1 99.2
6:10 |[wAH> 1 80.8
6:10 |[wH> 1 75.6
6:10 |[wHY 1 90.4
6:12 |<AHY 1 66.6
6:12 <AV 1 79.2
6:12 |<HY 1 80.2
6:12 |<AHY 1 974
6:12 |<AHY 1 80.8
6:12 |<AHY 1 62.8
6:12 |wAHY 1 68.4

&% 30 - - - |- =




BH AUhEHE-BUVEOHBKR (BB ERFAE 17/26)

20155 2H25H EmR F1(2/2) 552 ~ 7:50 (3/9)
R RATES FE(m) e BE R
EZ BE B | 92 BE #R =8|
6:14 |<HY 1 65.2
6:14 |<HY 1 95.8
6:14 |<HY 1 72.2
6:14 |<HY 1 71.8
6:14 |<HY 1 64.4
6:14 |<HY 1 57.8
6:14 <AV 1 64.6
6:14 |<HY 1 66
6:14 |<AHY 1 64
6:16 |<HY 1 61.6
6:16 |<H> 1 78.2
6:16 |<HY 1 79.2
6:16 |<HY 1 734
6:16 |<HY 1 67.4
6:16 |<HY 1 774
6:16 |<HY 1 87.8
6:16 |<HY 1 71.6
6:18 |[<HY 1 55
6:18 |<HY 1 80.2
6:18 |<HY 1 57.4
6:18 |<HY 1 47
6:18 |[wAHY 1 60
6:18 |<AHY 1 42.4
6:18 |<AHY 1 42.2
6:20 <AV 1 107
6:20 |(wAHY 1 66
6:20 <AV 1 71
6:20 <AV 1 58.8
6:20 <AV 1 160
6:20 |wAHY 1 143

&t 30 = = = = -

20155 2H25H EmR F1(2/2) 552 ~ 7:50 (4/9)
R AT FE(m) A BE R
E %l BE B | 92 55 &2 [=a]
6:20 |(wAHY 1 76.6
6:22 |wAHY 1 156
6:22 |<AHY 1 1.4
6:22 |wAHY 1 57
6:22 |wAHY 1 68
6:22 |wHY 1 34
6:24 |<HY 1 75
6:24 |<HY 1 69.4
6:24 |<HY 1 46.4
6:24 |<HY 1 61.8
6:26 |<HY 1 1.4
6:26 |<HY 1 94.4
6:26 |<HY 1 56.2
6:26 |<HY 1 924
6:26 |<HY 1 79.8
6:26 |<HY 1 73.2
6:28 |[wHY 1 73.4
6:28 |wHY 1 61.8
6:28 |(wHY 1 72.6
6:28 |[wHY 1 137
6:28 |[wHY 1 73.4
6:28 |[wHY 1 76.6
6:28 |wHY 1 105
6:30 [wAHY 1 105
6:30 |[wAHY 1 136
6:30 [wAHY 1 125
6:30 [wAHY 1 145
6:30 |[wAHY 1 115
6:32 <AV 1 79.6
6:32 |wAHY 1 107

&% 30 - - - |- =




BH AUhTEHE-B7VEOHBKR (BB ERFAE 18/26)

20154%2H25H EE F1(2/2) 552 = 7:50 (5/9)
Mz AT B RE(m) e BE A
5l B By | 98 &5 &&E (=g ™
6:32 |RAHY 1 94.6
6:32 |%AHY 1 100
6:34 |RAHY 1 32.6
6:34 |%AHY 1 38.6
6:34 |RAHY 1 44
6:34 |XAHY 1 62.4
6:34 |RAHY 1 70.2
6:34 |%AHY 1 66.8
6:36 | XA 1 75.6
6:36 | WA 1 40.8
6:36 | XA 1 54.4
6:38 |¥HY 1 106
6:38 | XA 1 116
6:38 |wHY 1 46.4
6:38 | XA 1 58.6
6:38 |¥HY 1 66
6:38 |¥AHY 1 46.6
6:38 | XA 1 79
6:40 |RAHY 1 84.4
6:40 |RAHY 1 51
6:40 |RAHY 1 59
6:42 |RAHY 1 113
6:42 |RAY 1 110
6:42 |RAHY 1 47.4
6:42 |RAY 1 68.2
6:44 |RAHY 1 122
6:46 | XA 1 61.4
6:46 | XA 1 68.6
6:46 [wHY 1 58.8
6:46 [XH> 1 51

&t 30 = = = = -

20154 2H25H EE F1(2/2) 552 = 7:50 (6/9)
MR AT B E(m) e BE A
il B4 By | 92 &5 #®3E [=4]
6:48 |XAHY 1 65
6:50 |vAHY 1 45.8
6:50 |wAHY 1 50.2
6:50 | A 1 55.8
6:50 |<wAHY 1 74.8
6:52 |RAHY 1 47.4
6:52 |RAHY 1 58.2
6:52 |RAHY 1 73.4
6:52 |XAHY 1 55.6
6:52 |RAHY 1 68
6:52 | %A 1 65.6
6:54 | XA 1 68.6
6:54 | XA 1 74.4
6:54 |XAHY 1 52.4
6:54 |XAHY 1 77.8
6:56 | XA 1 54
6:56 | XA 1 62.8
6:56 | XA 1 29.8
6:56 | %A 1 52.2
6:58 | XA 1 57.2
6:58 |<¥AHY 1 99.2
6:58 | XA 1 36.2
6:58 | XA 1 77.6
7.00 |RAYV 1 57.4
7.02 |RAY 1 59.6
7.02 |RAY 1 53.2
7.02 |RAY 1 73.2
7.02 |RAY 1 48.6
7.04 |RAY 1 70.4
7.04 |RAV 1 67.8

= 30 = = = = =




BH AUhTEHE-B7VEOHBKR (BB ERFAE 19/26)

20155 2H25H EmR F1(2/2) 552 ~ 7:50 (7/9)
R RATES FE(m) e BE R
EZ BE B | 92 BE #R =8|
7.04 (A 1 71
7.04 |RAY 1 74
7.04 |RAY 1 66
7:08 |<AHY 1 71.2
7.08 |<AHY 1 64
710 =AY 1 78.4
710 =AY 1 45.6
710 =AY 1 41.2
710 =AY 1 76.2
710 =AY 1 63.4
710 |RAY 1 446
712 |=RAY 1 76.2
712 |=RAY 1 86
714 |RAY 1 51
714 |RAY 1 448
714 |=RAY 1 81.6
714 |=RAY 1 71.8
7:16 (=AY 1 65.4
7:16 (A 1 46.6
7:16 |RAY 1 52.4
716 |RAY 1 39.6
7:16 |RAY 1 50
7:16 |RAY 1 49.6
7:18 |=AY 1 57.6
7:18 |=RAY 1 33.8
7:18 (=AY 1 99.2
7:20 |RAV 1 103
7:20 (=AY 1 494
7:22 (=AY 1 64
7:22 |=RAY 1 304

&t 30 = = = = -

20155 2H25H EmR F1(2/2) 552 ~ 7:50 (8/9)
R AT FE(m) A BE R
E %l BE B | 92 55 &2 [=a]
7:22 (=AY 1 274
7:22 (=AY 1 67.6
7:22 (=AY 1 62.2
7:22 (=AY 1 47.6
724 AV 1 30.2
724 |RAY 1 59.2
7:26 (<A 1 59.8
7:26 <AV 1 67.2
7:26 (<A 1 61.8
7:26 (<A 1 53.8
7:28 |RAHY 1 55.2
7:28 |RAHY 1 31.6
7:28 <AV 1 60.6
7:28 |RAHY 1 69
7:30 [wAHY 1 58.6
7:32 (=AY 1 101
7:32 |RAY 1 88.6
7:32 |RAY 1 46
7:32 (=AY 1 68.6
7:32 |RAY 1 53.8
7:32 |RAY 1 43.8
7:34 |RAY 1 89.6
7:36 |<AHY 1 17.2
7:36 |<AHY 1 50
7:36 |<AHY 1 64.8
7:38 |wAHY 1 77.8
7:38 |<AHY 1 75.4
7:38 |wAHY 1 105
7:38 |wAHY 1 58.6
740 |RAY 1 77.8

&% 30 - - - |- =




BH AUhEHE-B7VEOHBKR (BB ERFAE 20/26)

201528258 EMR F1(2/2) 552 ~  7:50 (9/9)
IE RATEE(m) REERE
5l B By | 2 85 £82 (=3
7:40 |RHY 1 73.2
7:42 |RHY 1 62
7:42 |RHY 1 65.6
744 |RHY 1 36.8
7:44 |RHY 1 51.6
7:46 |THY 1 81.4
7:46 |RHY 1 113
7:46 |THY 1 66.8
7:48 |THY 1 4738
7:48 |THY 1 56.8
7:48 |RHY 1 83.4
7:48 |THY 1 78.8
7:48 |RHY 1 47.4
7:50 |wHY 1 9238
7:50 |RHU 1 69.6

&t 15 = = = = -

201528258 EHR C2 17:05 ~  18:05 (1/1)
e RATBE(m) epE st
F 2 B By | 02 85 £82 (=3
17:16 |H > %8sp. 170 80 80 80 1000
17:22 |ES 94 100 156
17:22 |ES 94 1 125
17:25 |H > $fsp. 150
17:29 |/\2F39%Esp.| 50 0 0 0 0
17:31 |ES 94 2 30 30 30 300
17:35 |RHY 60 20 20 20 500
17:36 |7 %Esp. 100 10 10 0 300
17:40 |4 $Esp. 6 30 30 0 500
17:41 |ES 94 4 50 50 50 [ 56 | 300
17:43 |RHY 60 50 50 50 | 56 | 1000
17:47 |RHY 5 40 40 40 | 38 | 500
17:47 |ES 94 50 0 30 0 500
17:49 |5 $Esp. 5 30 30 30 1000
17:52 |H > %Esp. 20 40 40 40 | 36 | 500
17:55 |H > $Hsp. 300 0 0 0 0
17:55 |/ > $fsp. 50 0 0 0 0

&t 1133 = = = = =

2015628258 EE NI 18:35 ~  18:40 (1/1)
IE RiTEE(m) e papE
F 2 B By | 02 85 £82 (=3
18:35 |/\2F3™9%dsp.| 2000 0 0 0 0
18:35 |/ $fsp. 2000 0 0 0 0

&t 4000 = = = = =

2015€3H6H ES B5 17:00 ~  17:30 (1/1)
e RATEE(m) eps st
5l B By | 02 85 £82 (=3
17:05 |2 $8sp. 350 106
17:05 | $8sp. 1 71
17:05 |2 $8sp. 1 79
17:05 |2 %Fsp. 1 99
17:05 |H > $8sp. 1 101
17:07 |H > 4Fsp. 50 118
17:07 |H > $8sp. 1 110
17:16 |/ > $Fsp. 25 47
17:16 | > $8sp. 1 81
17:18 |ES 94 5 69

&t 436 = = = = =




BH AUhEHE-B7VEOHBKR (BB ERFAE 21/26)

2015€3H6H EE HI 17:40 ~  18:20 (1/1)
e MATEE(m) Fesant
EZl B4 Bk | 2 &S &E =8|
18:20 |/ $Hsp. 500

&t 500 = = = - -

201543 7H Em N3 552 ~ 620 (1/2)
e MATRE(m) FesaRt
E %l 4 Bk | 952 BS &R =8| m
5:52 | $Hsp. 1 52
5:52 | $Hsp. 1 46
5:52 | $Hsp. 1 41
5:54 |/ $Hsp. 1 46
5:54 |/ $Hsp. 1 35
5:54 |/ $Hsp. 1 40
5:54 |/ $Hsp. 1 34
5:54 | $Hsp. 1 43
5:54 |/ $Hsp. 1 60
5:56 |/ %Hsp. 1 40
5:56 |/ %Hsp. 1 38
5:56 |/ %Hsp. 1 42
5:56 |/ %Hsp. 1 50
5:56 |/ %Hsp. 1 53
5:56 |/ %Hsp. 1 45
5:56 |/ %Hsp. 1 62
5:58 |/ $Hsp. 1 56
5:58 | $Hsp. 1 59
5:58 |/ %Hsp. 1 48
6:00 |[ES oA 1 120
6:06 |VH 1 42
6:06 |ES A 5 101
6:06 |ES oA 12 120
6:10 |wHY 1 56
6:12 |THY 1 42
6:12 |THY 1 55
6:14 |THY 1 39
6:14 |THY 1 43
6:14 |THY 1 55
6:16 |TH 1 41

&it 45 - - - - -

201543 7H Em N3 552 ~  6:20 (2/2)
DIE RITEEMm) REERE
il B4 B | DR BE #R =8|
6:16 |H > #Esp. 1 41
6:16 |H > Fsp. 1 43
6:18 | > %Hsp. 1 56
6:18 |H > isp. 1 58

&t 4 = = - - -




BH AUhTHE-BUVEOHBKR (BB ERFAE 22/26)

201543 7H Em N4 555 ~ 820 (1/1)
e M7 (m) Fesant
5l B By | 02 85 #£82 [=a|
5:55 (A 1 59
5:55 <A 1 63
5:55 <A 1 47
6:00 (A 1 69
6:00 (wAH> 1 67
6:00 (A 1 74
6:00 (A 1 70
6:00 (A 1 71
6:00 (wAH> 1 71
6:00 (A 1 75
6:00 [wAH> 1 91
6:00 (A 1 93
6:00 (A 1 75
6:00 [wAHY 1 78
6:00 (A 1 72
6:00 A 1 70

&t 16 = = = = -

201543 A 7H Em N5 555 ~ 820 (1/1)
e M7 (m) Fesant
5l B BkY | 2 85 #£82 (=8| ™
6:10 [wAH> 12 139
6:30 <A 1500

&t 1512 = = = = =

201543/ 7H Em N6 555 ~ 820 (1/1)
e MeATEE(m) Fesant
5l B By | 02 85 £82 (=3
6:40 (<A 1 158
7:46 (<A 100 150 | 150 150
7:50 <A 15 100 100 100 6000
759 <A 15 100 | 100 100 3000
8:10 [wAHY 20 100 | 100 100 500
811 |[wAY 90 200 200 200 7000

= 241 - - - - -




BH AUhTEHE-B7VEOHBKR (BB ERFAE 23/26)

2015438780 EA N7 16:58 ~  18:20 (1/8)
e RATBE(m) eps Bt
F 2 B By | 92 85 #£82 (=3
16:58 |H > %Hsp. 1 84
16:58 |/ > $Hsp. 1 93
16:58 |/ > %Hsp. 1 156
16:59 | > $Hsp. 1 98
16:59 |/ > $Hsp. 1 101
16:59 |/ > $Hsp. 50 115
17:00 |H > %Hsp. 80 87
17:00 |H > $8sp. 3 120
17:00 |H > $8sp. 2 73
17:00 |H > $8sp. 50 100
17:00 |H > $8sp. 100 100
17:01 |H > $8sp. 15 97
17:02 |/ \IF35%Esp. 4 40
17:02 |H > $dsp. 3 97
17:05 |/\oF39%Esp. 2 111
17:06 |/ $Hsp. 6 150
17:07 |/\oFa5%sp. 2 159
17:07 |/ \oFa9%Esp. 8 77
17:07 | $8sp. 2 134
17:08 |H > $Hsp. 1 66
17:08 |/ \oIF39%Esp. 4 76
17:10 |/ \oFa9%Esp. 4 86
1711 |H > $8sp. 4 97
1711 |H > $fsp. 18 124
17:12 |H > $fsp. 2 105
17:12 |H > $fsp. 4 114
17:12 |H > $fsp. 3 124
17:12 |H > $fsp. 1 133
17:13 |H > $fsp. 5 122
17:13 | $fsp. 2 150

&t 380 = = = = =

2015438780 EH N7 16:58 ~  18:20 (2/8)
e RATEE(m) epE st
F 2 B BkY | 02 85 £82 (=3
17:14 [/\oFa5%asp. 8 70
17:14 |/ \oF35%Esp. 10 102
17:14 |H > $fsp. 5 102
17:15 |/ \oF35%sp. 3 63
17:16 |/\2F39%8sp.| 50 50
17:16 | > $8sp. 50 71
17:16 |H > $Hsp. 30 66
17:16 | > $Fsp. 50 70
17:16 | > $8sp. 20 80
17:16 | > %Fsp. 20 85
17:16 | > $8sp. 60 100
17:17 |H > 4Fsp. 50 96
17:17 |H > $fsp. 15 93
17:17 | $Fsp. 6 110
17:18 |H > $Hsp. 10 117
17:18 | 48sp. 25 99
17:18 |H > $Hsp. 7 100
17:19 | $Fsp. 10 93
17:19 |5 $Fsp. 6 50
17:19 |/ \oFa5%Esp. 3 30
17:20 | > $8sp. 3 79
17:20 |H > $Fsp. 8 76
17:20 |/ \oFa9%Esp. 4 40
17:21 |H > $Fsp. 4 106
17:21 |/ \oFa5%Esp. 3 103
17:21 |H > $Fsp. 10 94
17:21 |H > $8sp. 10 88
17:21 |H > $Fsp. 100 84
17:21 |H > $8sp. 100 82
17:21 | $fsp. 30 75

&t 710 = = = = =




BH AUhEHE-B7VEOHBKR (BB ERFAE 24/26)

2015638780 EA N7 16:58 ~  18:20 (3/8)
e RATBE(m) e ps bt
F 2 B By | 92 85 #£82 [=a|
17:22 |H > $8sp. 20 93
17:22 |H > $fsp. 30 91
17:22 | $Hsp. 20 78
17:22 |H > $fsp. 100 83
17:22 |H > $Hsp. 40 111
17:22 |H > $Hsp. 20 100
17:22 |H > $8sp. 10 100
17:23 |H > $Hsp. 30 60
17:23 |H > $Hsp. 30 81
17:23 |H > $fsp. 40 94
17:23 |H > $dsp. 4 65
17:25 |H > $dsp. 8 86
17:25 |H > $dsp. 200 78
17:25 |H > $8sp. 50
17:25 |H > $Hsp. 300 98
17:25 |H > $fsp. 500
17:25 |H > $8sp. 300 95
17:25 |H > $fsp. 30 76
17:26 |/ > $Hsp. 10 99
17:26 | > $8sp. 15 90
17:26 |/ > $Hsp. 40 86
17:26 |H > $Hsp. 30 92
17:26 |/ > $Hsp. 500
17:26 |H > $Hsp. 30 62
17:27 |H > $Hsp. 500
17:27 |H > $fsp. 30 77
17:27 |H > $Hsp. 500
17:27 |H > $Hsp. 50 81
17:27 |H > $Hsp. 30 81
17:27 | $fsp. 500

&t 3967 = = = = -

2015638780 EH N7 16:58 ~  18:20 (4/8)
IE RiTEE(m) e papE
5l B A% | 02 85 £82 (=3
17:28 |H > $Hsp. 50 87
17:28 |H > $Hsp. 100 81
17:28 |H > $Hsp. 100 78
17:28 | $Hsp. 60 74
17:28 |H > $Hsp. 6 120
17:28 | > $Hsp. 30 93
17:29 | $8sp. 3 92
17:29 | $8sp. 20 100
17:29 | $Hsp. 6 88
17:29 | > $8sp. 6 100
17:29 | $Hsp. 5 105
17:29 |H > $8sp. 15 103
17:30 | $Hsp. 200 135
17:30 | %Fsp. 4 103
17:30 | $Hsp. 5 177
17:31 |H > $8sp. 20 112
17:31 |H > $Hsp. 50 71
17:31 | $8sp. 60 119
17:31 |H > $Fsp. 40 105
17:31 | $Fsp. 10 101
17:32 |H > $Hsp. 4 133
17:32 | $Hsp. 5 105
17:32 |H > $fsp. 20 120
17:34 | $Hsp. 20 110
17:34 | $Hsp. 4 132
17:34 | $Hsp. 10 110
17:34 |/\2F39%Esp.| 20 30
17:36 |/\7F39%Esp. 2 45

&t 875 = = = = =




BH AUhEHE-B7VEOHBKR (BB ERFAE 25/26)

2015638780 EA N7 16:58 ~  18:20 (5/8)
e RATBE(m) e pE bt
5l B By | 2 85 #£82 (=3 ™
17:37 |H > $8sp. 2 107
17:37 |H > $Hsp. 70 134
17:37 |H > $Hsp. 200 96
17:37 |H > $Hsp. 100 88
17:39 | > $Hsp. 80 104
17:39 | > $Hsp. 10 101
17:39 | $Hsp. 150 132
17:39 | $Hsp. 20 125
17:39 | $Hsp. 5 123
17:40 |H > $Hsp. 500
17:40 |/ > $8sp. 50 96
17:40 |H > $Hsp. 30 133
17:40 |/ > $8sp. 40 116
17:40 |H > $Hsp. 400
17:41 |H > $8sp. 100 103
17:42 |H > $8sp. 8 124
17:42 |H > $8sp. 100 80
17:42 |H > $8sp. 100 80
17:42 |H > $8sp. 100 68
17:42 | $8sp. 100 76
17:42 | $8sp. 3000
17:43 |H > $Hsp. 100 72
17:43 | $8sp. 100 110
17:43 |H > $dsp. 100 109
17:43 | $8sp. 60 116
17:43 | $Hsp. 50 102
17:44 |5 $Hsp. 20 137
17:44 |5 $Hsp. 50 107
17:44 |5 $8sp. 30 123
17:44 |5 $8sp. 30 99

&t 5705 = = = = -

2015638780 EE N7 16:58 ~  18:20 (6/8)
e RATBE(m) eps st
F 2 B A% | 02 85 £82 (=3
17:45 |H > $8sp. 30 102
17:45 |/ $8sp. 20 65
17:47 |H > $fsp. 15 99
17:47 |H > $Hsp. 4 114
17:48 |2 $Hsp. 40 49
17:48 |/ > $Hsp. 60 60
17:48 | > $Hsp. 100 53
17:49 |/ $Fsp. 10 97
17:50 |H > $Fsp. 5 100
17:51 |H > $8sp. 2 86
17:51 |H > $fsp. 10 87
17:52 | $8sp. 100
17:52 |H > $Hsp. 20 89
17:52 | $Hsp. 100 86
17:52 |H > $Hsp. 50 83
17:52 | $Fsp. 20 85
17:52 |H > $Hsp. 200
17:53 | $Hsp. 100 54
17:53 | $Hsp. 100 77
17:53 | $Hsp. 200 74
17:53 | $Hsp. 50 98
17:53 | $Hsp. 50 98
17:53 | $Hsp. 20 119
17:54 |H > $Fsp. 6 135
17:54 |5 $Fsp. 200 127
17:54 |/ > $Fsp. 100 103
17:56 |H > %Hsp. 1 119
17:56 |/ > %Fsp. 5 77
17:56 |/ > %Hsp. 40 76
17:56 |/ > $Hsp. 30 80

&t 1688 = = = = =




BH AUhEHE-B7VEOHBKR (BB ERFAE 26/26)

201543878 ER N7 16:58 ~  18:20 (7/8)
S AT B (m) esant
5l B A% | 2 85 #£82 [=a|
17:57 |H > $Hsp. 200 66
17:57 |H > $Hsp. 100 65
17:57 |H > $Hsp. 10 68
17:58 |H > $fsp. 15 106
17:58 |/ > $Hsp. 10 123
17:58 |H > $Hsp. 100 70
17:58 |/ > $Hsp. 200 75
17:58 |H > $Hsp. 200 78
17:59 |H > $Hsp. 100 76
17:59 |H > $Hsp. 30 78
17:59 |H > $8sp. 5 88
17:59 |H > $8sp. 50 84
17:59 |H > $Hsp. 200
17:59 |H > $Hsp. 100 72
18:00 |/ %Hsp. 100 78
18:00 |/ %Hsp. 100 43
18:00 |/ %Hsp. 20 54
18:01 | $Hsp. 30 62
18:02 |/ $Hsp. 50 73
18:03 |/ $Hsp. 5 101
18:03 |/ %Hsp. 5 103
18:03 |/ $Hsp. 2 69
18:04 |/ %Hsp. 100 114
18:04 |/ $Hsp. 100 127
18:04 |/ %Hsp. 100 123
18:04 |/ $Hsp. 50 121
18:04 |/ %Hsp. 200
18:04 |/ $Hsp. 500

&t 2682 = = = = =

2015€3H 78 EE N7 16:58 ~  18:20 (8/8)
IE RiTEE(m) e PEEE
5l B A% | 02 85 £82 (=3
18:05 |/ $Hsp. 100 89
18:05 |/ %Hsp. 100 92
18:05 |/ $Hsp. 30 91
18:05 |/ %Hsp. 10 140
18:05 |/ $Hsp. 10 121
18:06 |/ %Hsp. 50 73
18:06 |/ %Hsp. 30 109
18:06 |/ %Hsp. 150 105
18:06 |/ %dsp. 300 65
18:06 |/ %Hsp. 500
18:06 |/ %Hsp. 100 58
18:07 |/ %Hsp. 100 78
18:07 | $Hsp. 200 76
18:07 |H > %Hsp. 100 79
18:07 | $Hsp. 200
18:07 |/ $Hsp. 30 83
18:10 |/ $Hsp. 2 76
18:12 | $Hsp. 1000
18:12 | $Hsp. 20 86
18:12 | $Hsp. 1000
18:12 | $Hsp. 100 87
18:12 | $Hsp. 10 85
18:13 | $Hsp. 1000
18:13 | $Hsp. 10 96
18:17 |H > $Hsp. 10 86
18:19 |/ $Hsp. 1

&t 5163 = = = = =







